®

UZMAN KARDAN

UNIVERSAL JOINT KITS / ZAPFENKREUZGARNITUREN / KOMPLE ISTAVROZLAR @

OUTSIDE SNAPRING

LOCK PLATE + WASHER

8 OFF BOLT

/

|

e
L L
Fig. 1 Fig. 2
KAT-13/1 22/12/2008
SERIE NEW PART NO CATALOG NO
BAUGR TEIL NR NEU KATALOG NR REF. FIG. D L NOTES

SERI YENI PARCA NO KATALOG NO

000 40001301400 AK 7440 LOBRO: U-744 1 38,0 105,9 CENTER GREASE NIPFPLE
40001302400 AK 3870 SCANIA: 264043 1 44,0 149,0 SIDE GREASE NIPPLE
40001302500 AK 3880 SCANIA: 264044 1 50,0 164,0 SIDE GREASE NIPPLE
40001303601 - - 1 47,0 130,9 SIDE GREASE NIPPLE
40001303602 - - 1 47,0 130,9 SIDE GREASE NIPPLE
40001304700 AK 8130 - 1 57,0 144,0 CENTER GREASE NIPPLE
40001306400 - - 1 24,0 60,0 LIFETIME LUBRICATION
40001307000 - - 1 27,0 70,15 SIDE GREASE NIPPLE
40001307100 - - 1 27,0 80,0 LIFETIME LUBRICATION
40001307200 - - 1 27,0 70,0 SIDE GREASE NIPFLE
40001307400 - - 1 20,0 57,0 SIDE GREASE NIPPLE
40001307600 - - 1 20,0 54,8 SIDE GREASE NIPPLE
40001307700 - - 1 22,06 64,5 LIFETIME LUBRICATION
40001308200 - = 1 250 63,8 LIFETIME LUBRICATION
40001308300 - - 1 250 63,8 LIFETIME LUBRICATION
40001308400 - - 1 250 63,8 SIDE GREASE NIPPLE
40001308500 - - 1 25,0 76,8 SIDE GREASE NIPPLE
40001309401 - = 2 50,05 152,7 SIDE GR.NIP.BOLT M8x1,25
40001309701 - - 1 27,0 80,0 SIDE GREASE NIPPLE
40001309800 = = 1 27,0 70,0 CENTER GREASE NIPPLE
40001309900 - - 1 16,05 40,5 LIFETIME LUBRICATION
40001310000 & - 1 24,06 62,4 LIFETIME LUBRICATION
40001310100 - - 1 45,04 120,4 CENTER GREASE NIPFLE
40001310300 = - 1 31,0 88,0 CENTER GREASE NIPPLE
40001310400 - - 2 44,04 126,0 SIDE GR.NIP.BOLT Mé&x1
40001310600 = - 1 65,0 172,0 SIDE GREASE NIPPLE
41141300100 AK 420 HS: 1451-150N 1 23,8 61,3 LIFETIME LUBRICATION
41141300300 AK 400 HS: 1451-185W 1 238 61,3 CENTER GREASE NIPPLE

1140 41141300600 AK 500 HS: 1451-194W 1 23,8 61,3 SIDE GREASE NIPPLE
41141302600 AK 500 AG - 1 238 61,3 CENTER GREASE NIPPLE
41141302700 - = 1 238 61,3 LIFETIME LUBRICATION
41141303300 - - 1 23,8 61,3 SIDE GREASE NIPPLE
41301300100 AK 1110 HS: 3051-035N 1 27,0 74,6 LIFETIME LUBRICATION

1300 41301300200 AK 1100 HS: 3051-195W 1 27,0 74,6 SIDE GREASE NIPPLE
41301300700 AK 1100 BRD: 03/803246 1 27,0 74,6 H.D. - SIDE GREASE NIPFLE
41311300100 AK 1000 HS: 3151-166W 1 27,0 81,8 SIDE GREASE NIPFLE

1310 41311300200 AK 1010 HS: 3151-162N 1 27,0 81,8 LIFETIME LUBRICATION
41311300800 AK 1000 BRD: 04/508450 1 27,0 81,8 H.D. - SIDE GREASE NIPPLE
41311301000 AK 1010 - 1 27,0 81,8 H.D. - LIFETIME LUBRICATION

1410 41411300100 AK 2000 HS: 4151-179W 1 30,2 106,3 SIDE GREASE NIPPLE
41411300700 AK 2000 HS: 4151-179W 1 30,2 106,3 H.D. - SIDE GREASE NIPFLE

DIMENSIONS AND ILLUSTRATIONS ARE SUBJECT TO CHANGE, AND WE RESERVE THE RIGHT TO INTRODUCE MODIFICATIONS WITHOUT PRIOR NOTICE.
DIE MASSE UND ZEICHNUNGEN SIND UNIVERBINDLICH UND KONNEN OHNE VORHERIGE BEKANTGABE GEAENDERT WERDEN.




UZMAN KARDAN

@ UNIVERSAL JOINT KITS / ZAPFENKREUZGARNITUREN / KOMPLE ISTAVROZLAR

OUTSIDE SNAPRING

LOCK PLATE + WASHER

R 2 e o e

R

8 OFF BOLT

-

SeE.

L _—
Fig. 1 Fig. 2
KAT-13/2 22/12/2008
SERIE NEW PART NO CATALOG NO
BAUGR TEIL NR NEU KATALOG NR REF. FIG. D L NOTES
SERI YENI PARCA NO KATALOG NO
1350 41351300100 AK 2200 HS: 3551-182W 1 30,2 92,0 SIDE GREASE NIPPLE
1430 41431300300 AK 2200 - 1 30,2 92,0 H.D. - CENTER GREASE NIPPLE
41431300600 - - 1 30,2 92,0 SIDE GREASE NIPPLE
41481300200 - - 1 34,9 106,3 SIDE GREASE NIPPLE
1480 41481300300 AK 2300 HS: 4851-263X 1 34,9 106,3 H.D. - SIDE GREASE NIPPLE
41481300400 - - 1 34,9 106,3 SIDE GREASE NIPPLE
41481300800 - - 1 34,9 106,3 SIDE GREASE NIPPLE
41511300100 AK 3500 HS: 5151-176Y 1 39,7 115,8 SIDE GREASE NIPPLE
1510 41511300102 - - 1 39,7 115,8 SIDE GREASE NIPPLE
41511300103 - - 1 39,7 115,42 SIDE GREASE NIPPLE
1630 41631300100 AK 3630 HS: 6351-002Y 1 39,7 15,8 H.D. - CENTER GREASE NIPPLE
41711300300 AK 5000 HS: 7151-001Y 2 49,2 154,8 SIDE GR.NIP.BOLT 5/16"BSF
1710 41711300301 AK 5000 HS: (7151-001Y) 2 49,2 154,8 SIDE GR.NIP.BOLT M8x1,25
41711300400 - - 2 49,2 154,8 SIDE GR.NIP.BOLT 3/8"BSF
41811300300 AK 6760 HS: 8151-001Y 2 59,0 167,5 CENTER GR.NIP.BOLT 3/8"BSF
1810 41811300301 AK 6760 HS: (8151-001Y) 2 59,0 167,5 CENTER GR.NIP.BOLT M10x1,25
41811300400 - - 2 59,0 167,5 CENTER GR.NIP.BOLT 3/8'BSF
350 43501300200 AK 7350 - 1 38,0 89,2 CENTER GREASE NIPPLE
381 43811300100 AK 7471 - 1 42,0 106,0 CENTER GREASE NIPPLE
43811300200 - - 1 42,0 106,0 LIFETIME LUBRICATION
43851300100 AK 7650 LOBRO: U-765 1 48,0 126,0 CENTER GREASE NIPPLE
385 43851300400 - - 1 48,0 126,0 LIFETIME LUBRICATION
43851300500 - - 1 48,0 126,0 LIFETIME LUBRICATION
43851300700 - - 1 48,05 125,8 CENTER GREASE NIPPLE
43891300100 AK 7610 - 1 53,0 135,0 CENTER GREASE NIPPLE
43891300200 - - 1 53,0 135,0 LIFETIME LUBRICATION
389 43891300300 - - 1 53,0 135,0 LIFETIME LUBRICATION
43891300400 - - 1 53,0 135,0 LIFETIME LUBRICATION
43891300600 - - 1 53,0 135,0 CENTER GREASE NIPPLE
43891300700 - - 1 53,0 135,0 CENTER GREASE NIPPLE
43951300100 AK 7630 - 1 57,0 152,0 CENTER GREASE NIPPLE
395 43951300200 - - 1 57,0 152,0 LIFETIME LUBRICATION
43951300700 - - 1 57,0 152,0 CENTER GREASE NIPPLE
43951300800 - - 1 57,0 152,0 CENTER GREASE NIPPLE
420 44201300300 - - 1 30,2 81,8 CENTER GREASE NIPPLE
430 44301300100 AK 7648 - 1 48,0 116,5 CENTER GREASE NIPPLE
434 44341300100 AK 7560 - 1 52,0 133,0 CENTER GREASE NIPPLE
445 44451300100 - - 1 52,0 147,2 CENTER GREASE NIPPLE
446 44461300100 - - 1 53,0 147,2 CENTER GREASE NIPPLE

DIMENSIONS AND ILLUSTRATIONS ARE SUBJECT TO CHANGE, AND WE RESERVE THE RIGHT TO INTRODUCE MODIFICATIONS WITHOUT PRIOR NOTICE.
DIE MASSE UND ZEICHNUNGEN SIND UNIVERBINDLICH UND KONNEN OHNE VORHERIGE BEKANTGABE GEAENDERT WERDEN.

OLCU VE RESIMLER BAGLAYICI OLMAYIP , BILDIRILMEKSIZIN DEGISTIRILEBILIRLER.




UZMAN KARDAN

UNIVERSAL JOINT KITS / ZAPFENKREUZGARNITUREN / KOMPLE ISTAVROZLAR

TWO INSIDE-TWO OUTSIDE SNAPRING

INSIDE SNAPRING

53

TWO OUTSIDE SNAPRING + TWO BRACKET

\__f\_’l,
— é —1- S o - "
.
|
| i
2D ‘
eD
0
0
Fig. 3 Fig. &
STAKED TYPE
|
‘ oD
=18} L
|8
KAT-13/3 22/12/2008
SERIE | NEW PART NO | CATALOG NO
BAUGR | TEIL NR NEU KATALOG NR REF FIG DI/D1 IS K (0] NOTES
SERI| | YENI PARGA NO | KATALOG NO
020 40201300100 AK 250 - 7 15,0 38,0 - - LIFETIME LUB.STAKED TYPE
40201300200 E - 7 15,0 38,0 - - LIFETIME LUB.STAKED TYPE
040 40401300200 AK 290 - 7 19,0 48,5 - - LIFETIME LUB.STAKED TYPE
40401300500 . - 7 19,0 48,5 - - LIFETIME LUB.STAKED TYPE
40001300600 AK 1020 DS: 5-74X 4 27,0 - - 52,4 LIFETIME LUBRICATION
40001300800 AK 1760 LOBRO: U-176 7 22,0 67,2 - - LIFETIME LUB. STAKED TYPE
40001300900 AK 7300 LOBRO: U-730 4 38,0 B - 62,0 CENTER GREASE NIPPLE
40001301000 AK 7470 LOBRO: U-747 4 42,0 - - 72,0 CENTER GREASE NIPPLE
40001301101 AK7280/4 LOBRO: U-728/4 T 240 74,5 - - LIFETIME LUB.STAKED TYPE
40001301200 AK 1720 LOBRO: U-172 4 28,0 - - 440 SIDE GREASE NIPPLE
40001301300 AK 5354 DS: 5-354X 3 27/28,6 81,7 - 63,6 SIDE GREASE NIPPLE
000 40001303300 AK 7645 SCANIA: 294380 5 38,0 148,0 75,0 122,0 CENTER GREASE NIPPLE
40001303500 AK 2251 - 6 30,0 83,0 - - TWO BEARING CUP WITH HOLE
40001304401 - - 4 28,0 63,5 - 44,0 SIDE GREASE NIPPLE
40001305200 AK 72625 DS: 5-1306X 4 2.3 - - 50,8 SIDE GREASE NIPPLE
40001305300 AK 5353 DS: 5-353X 3 271273 81,7 - 50,8 SIDE GREASE NIPPLE
40001305400 AKT2625/1 DS: 5-13061X 4 273 - - 50,8 GREASE NIP. ON BEARING CUP
40001305600 AK1720/3 - 4 28,0 B - 440 GREASE NIP. ON BEARING CUP
40001305800 AK 7655 SCANIA: 294383 5 48,0 161,0 85,0 131,8 CENTER GREASE NIPPLE

DIMENSIONS AND ILLUSTRATIONS ARE SUBJECT TO CHANGE, AND WE RESERVE THE RIGHT TO INTRODUCE MODIFICATIONS WITHOUT PRIOR NOTICE.
DIE MASSE UND ZEICHNUNGEN SIND UNIVERBINDLICH UND KONNEN OHNE VORHERIGE BEKANTGABE GEAENDERT WERDEN.

OLCU VE RESIMLER BAGLAYICI OLMAYIP , BILDIRILMEKSIZIN DEGISTIRILEBILIRLER.




D

UZMAN KARDAN

UNIVERSAL JOINT KITS / ZAPFENKREUZGARNITUREN / KOMPLE ISTAVROZLAR f“?

a

TWO INSIDE-TWO OUTSIDE SNAPRING INSIDE SNAPRING TWO OUTSIDE SNAPRING + TWO BRACKET

T
| (] e
i "jf (W ]
-1 § —[$ ! o - : - - | x| A ——f—-
H g I 3 i
\ N ] §;< il AR
i f E
2D
2D
0 0
Fig. 3 Fig. &4
STAKED TYPE
|
|
eD L
L
Fig. 6 Fig 7
KAT-13/4 22/12/2008
SERIE | NEW PART NO | CATALOG NO
BAUGR | TEIL NR NEU KATALOG NR REF FIG D L K 0 NOTES
SERI | YENI PARGA NO | KATALOG NO
000 40001306100 AK 1150 - 6 27,0 70,0 - - TWO BEARING CUP WITH HOLE
40001307500 - - 4 20,0 - - 35,0 LIFETIME LUBRICATION
40001307800 - - 4 22,5 - - 34,9 SIDE GREASE NIPPLE
40001307900 - - 4 22,5 - - 35,2 SIDE GREASE NIPPLE
40001308000 - - E 25,0 - - 40,4 SIDE GREASE NIPPLE
40001308100 - - 4 25,0 - - 40,0 SIDE GREASE NIPPLE
40001308600 - - 4 26,0 - - 53,6 SIDE GREASE NIPPLE
40001308700 - - B 26,5 - - 48,0 SIDE GREASE NIPPLE
40001308900 - - B 28,0 = - 53,0 SIDE GREASE NIPPLE
40001309000 - - 4 29,0 - - 49,0 SIDE GREASE NIPPLE
40001309100 - - 4 29.0 - - 48,0 CENTER GREASE NIPPLE
40001309200 - - 4 30,0 - = 55,1 CENTER GREASE NIPPLE
40001309300 - - 4 32,0 e - 57,0 CENTER GREASE NIPPLE
468 44681300100 - - 4 68,0 166,0 E 89,00 LIFETIME LUBRICATION
44681300101 - - 4 68,0 166,0 - 89,00 CENTER GREASE NIPPLE

DIMENSIONS AND ILLUSTRATIONS ARE SUBJECT TO CHANGE, AND WE RESERVE THE RIGHT TO INTRODUCE MODIFICATIONS WITHOUT PRIOR NOTICE.
DIE MASSE UND ZEICHNUNGEN SIND UNIVERBINDLICH UND KONNEN OHNE VORHERIGE BEKANTGABE GEAENDERT WERDEN.
OLCU VE RESIMLER BAGLAYICI OLMAYIP , BILDIRILMEKSIZIN DEGISTIRILEBILIRLER.




UZMAN KARDAN

UNIVERSAL JOINT KITS / ZAPFENKREUZGARNITUREN / KOMPLE ISTAVROZLAR @
4 WING BEARING WING/GROOVED ROUND BEARING
- D -
//"_I—\ |
& |
= |

)

- | A=t —1—- - oo
I
Frinn i T ————
D
Y |
I
| i |
\'_/
g P P
Fig. 1 Fig. 2
KAT-13/5 23/01/2009
SERIE | NEW PART NO GREASE NIPPLE
BAUGR | TEILNR NEU REF FIG P R H D NOTES
SERI | YENI PARCA NO GRASORLUK
520(2C) ( 45201300100 MC-2010 1 79,22 33,32 - - SIDE GREASE NIPPLE 4LWT
45201300200 MC-2020 1 79,22 33,32 - - SIDE GREASE NIPPLE 4LWD
45201300300 MC-2080 2 79,22 33,32 54,74 25,40 SIDE GREASE NIPPLE 2LWD-2RDG
45201300400 MC-2081 2 79,22 33,32 54,74 2540 |GREASE NIPPLE ON BEARING CUP| 2LWD-2RDG
530(3C) | 45301300100 MC-3020 1 90,35 36,50 - - SIDE GREASE NIPPLE - 4LWD
45301300200 MC-3031 1 90,35 36,50 = " GREASE NIPPLE ON BEARING CUP 4HWD
540(4C) | 45401300100 MC-4030 1 107,82 36,50 - - SIDE GREASE NIPPLE 4HWD
45401300200 MC-4090 2 107,82 36,50 77,74 28,57 SIDE GREASE NIPPLE 2HWD-2RDG
45401300300 MC-4010 1 107,82 36,50 - - SIDE GREASE NIPPLE 4LWT
45401300400 MC-4040 1 107,82 36,50 - - SIDE GREASE NIPPLE 2LWT-2LWD
550(5C) | 45501300100 MC-5030 1 115,05 42,88 = = SIDE GREASE NIPPLE 4HWD
45501300200 MC-5050 1 115,05 42,88 - - SIDE GREASE NIPPLE 2LWT-2HWD
45501300300 MC-5060 1 115,05 42,88 - - SIDE GREASE NIPPLE 2LWD-2HWD
560(6C) | 45601300100 MC-6030 1 140,45 42,88 - - SIDE GREASE NIPPLE 4HWD
45601300200 MC-6090 2 140,45 42,88 104,70 33,33 SIDE GREASE NIPPLE 2HWD-2RDG
570(7C) | 45701300100 MC-7030 1 148,38 49,22 - - SIDE GREASE NIPPLE 4HWD
45701300200 MC-7090 2 148,38 49,22 101,16 41,28 SIDE GREASE NIPPLE 2HWD-2RDG
580(8C) | 45801300100 MC-8030 1 205,50 49,22 - - SIDE GREASE NIPPLE 4HWD
45801300200 MC-8090 2 205,50 49,22 162,26 41,28 | GREASE NIPPLE ON BEARING CUP| 2HWD-2RDG
585(8,5C)] 45851300100 MC-8530 1 165,01 71,44 - - SIDE GREASE NIPPLE 4HWD
45851300200 MC-8560 1 165,01 71,44 - - SIDE GREASE NIPPLE 2LWD-2HWD
590(9C) | 45901300100 MC-9030 1 209,60 71,44 - - SIDE GREASE NIPPLE 4HWD

DIMENSIONS AND ILLUSTRATIONS ARE SUBJECT TO CHANGE, AND WE RESERVE THE RIGHT TO INTRODUCE MODIFICATIONS WITHOUT PRIOR NOTICE.
DIE MASSE UND ZEICHNUNGEN SIND UNIVERBINDLICH UND KONNEN OHNE VORHERIGE BEKANTGABE GEAENDERT WERDEN.
OLCU VE RESIMLER BAGLAYICI OLMAYIP , BILDIRILMEKSIZIN DEGISTIRILEBILIRLER.




